# SARKAR E KHALSA









## About us

Sk foundation is a community of people where every participant indulges into the act of charity, help and human welfare by providing each other the financial help on the principle of gratuitousness, reciprocity and benevolence. In Sk foundation there are no lenders and no debtors. Sk foundation Organisation is dedicatedly committed to maintain/establish the utmost financial equality among the masses.







#### +234 Place

More than hundreds of countries need the help we have helped



#### 90% Donation

We raise funds from donations around the world to be channeled to countries in need



### Vision & Mission

#### Vision

Some churches abbreviate the five marks to five words: TELL – TEACH – TEND – TRANSFORM – TREASURE. In 2012, the ACC added wording to the fourth mark, to include the need for Christians to challenge violence and work for peace.

#### Mission

This is clearly on His heart throughout the Bible. So how do we keep that on our hearts? Matthew 6:21 tells us that where our treasure is, there our heart will be also. So give to missionaries who serve Him so all can hear.











# **Donation Help**

Rs.200/-

## SARKAR E KHALSA

Level	Team	Helping Amount	Total Amount	Level upgrade	Helping profit	FOUNDATIO
1	2	200	400	300	100	
2	4	300	1200	600	600	
3	8	600	4800	2000	2800	
4	16	2000	32,000	4000	28,000	
5	32	4000	1,28,000	8000	1,20,000	
6	64	8000	5,12,000	16,000	4,96,000	
7	128	16,000	20,48,000	32,000	20,16,000	
8	256	32,000	81,92,000	64,000	81,28,000	
9	512	64,000	3,27,68,000	2,00,000	3,26,40,000	
10	1024	2,00,000	20,48,00,000	No upgrade	20,48,00,000	

Total Helping Income:-24,62,15,500/-

### TERMS AND CONDITIONS



- √ ਇਹ ਇੱਕ ਗੈਰ-ਲਾਭਕਾਰੀ ਸੋਸ਼ਲ ਸਾਈਟ ਹੈ। ਸਾਡਾ ਸਿਸਟਮ ਕਿਸੇ ਤੋਂ ਕੋਈ ਪੈਸਾ ਨਹੀਂ ਲੈਂਦਾ।
- √ ਇਹ ਇੱਕ ਔਨਲਾਈਨ ਤੋਹਫ਼ਾ ਅਧਾਰਤ ਗੈਰ-ਵਾਪਸੀਯੋਗ ਭੀੜ ਫੰਡਿੰਗ ਪ੍ਰਣਾਲੀ ਹੈ।
- √ ਇਥੇ ਲੋਕ ਆਪਣੀ ਮਰਜ਼ੀ ਅਨੁਸਾਰ ਅੰਨ੍ਹੇਵਾਹ ਮਦਦ ਭੇਜਦੇ ਹਨ।
- ✓ ਇਸ ਪ੍ਰਣਾਲੀ ਦਾ ਕੰਮ ਲੋਕਾਂ ਨੂੰ ਬਿਨਾਂ ਕਿਸੇ ਵਚਨਬੱਧਤਾ ਦੇ ਇੱਕ ਦੂਜੇ ਨੂੰ ਤੋਹਫ਼ੇ ਭੇਜਣ ਲਈ ਜੋੜਨਾ ਹੈ।
- ✓ ਇਹ ਸਿਰਫ਼ ਇੱਕ ਤੋਹਫ਼ਾ ਪੋਰਟਲ ਹੈ, ਇੱਕ MLM/ਨੈੱਟਵਰਕਿੰਗ ਜਾਂ ਪੋਂਜ਼ੀ ਸਕੀਮ ਨਹੀਂ।
- ✓ ਰਜਿਸਟ੍ਰੇਸ਼ਨ ਤੋਂ ਬਾਅਦ, ਤੁਹਾਨੂੰ 7 ਦਿਨਾਂ ਦੇ ਅੰਦਰ 2 ਸਿੱਧੇ ਮੈਂਬਰ ਬਣਾਉਣੇ ਪੈਣਗੇ। ਤੁਹਾਡੀ ਐ ਨੂੰ 300 ਰੁਪਏ ਤੱਕ ਅਪਗ੍ਰੇਡ ਕਰਨਾ ਲਾਜ਼ਮੀ ਹੈ।

# SAKAR E KHALSA

